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9,000 x24H+6AIx 122 15,552
Z2H EUIIELX 1,500




2A:

2 Atel Z Xl ot

Ho: BES oA (LX2IZH D)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 50,400 50,400
01 2LHoIH 50,400 50,400
A 20| 280,000 *25Z * 123 »60% 50,400
203 HR=4Y] 6,750 6,750
01 J 22 HR LI 2,970 2,970
I A2 YR =AY 3,300, 0002 *90% 2,970
04 PAE2EERFAH 3,780 3,780 0
FA2HEIFII
350,0003 x 122 x90% 3,780
Hess(LXelZ ) 600,000 0 600,000
LIS HeHKIE 600,000 0 600,000
FHgM)Is MES 600,000 0 600,000
RJIsdES 600,000 0 600,000
0 JI=dEs 600,000 0 600,000
FgeEd)Is MES 600,000




